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NO DIGITAL DEVICES ALLOWED

Instructions — Part B

Time for the test 60 minutes for Part B.
Aids Allowed aids on Part B are formula sheet and ruler.

Tasks This part consists of tasks to be solved without using digital devices.
Answers and solutions atre to be written in the test booklet. Some of
the tasks require working, which is to be shown in the figure and the
box next to the task. For the other tasks only the answer is required.
The maximum number of points that you can get for your
answer/solution is shown after each task.

Grading limits The test (Part A—D) gives a total maximum of 92 points.

Limit for test grade

E:  Atleast 17 points.

D:  Atleast 32 points of which at least 13 points at level C or higher.
C:  Atleast 43 points of which at least 22 points at level C or higher.
B:  Atleast 57 points of which at least 8 points at level A.

A:  Atleast 68 points of which at least 15 points at level A.

Name:
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Program: Class:

Tllustration: Jens Ahlbom
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1. Write the number 42 as prime factors. Answer: (1/0/0)

2. Which statement(s) are correct concerning x + y = 11?
Circle your answer(s). (1/0/0)

xand y are
always equal

x=y-11

x is always greater

than y Ify=2,thenx=9

3. Simplify the expression 4x? + 3x(x + 2)
as far as possible. Answer: (1/0/0)

4.  Determine the square root of 0.25 Answer: (1/0/0)
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5.  Give an example of a solution
to the equation 3xt =48 Answer: x = (1/0/0)

6. The number 10112 is written in base 2 (a binary number).
Which base 10 number does it correspond to?

Answer: (1/0/0)
7.  Add the vectors # = (3,4) and 7 = (2,-5) Answer: (1/0/0)
8.  Determine the value of 3x—yif x=0.2and y=-0.2  Answer: (0/1/0)
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9.  Enter the appropriate symbol in the box between the inequalities below.

Choose between the following symbols: <=, = and <.

Motivate your choice.

x<-—1 x<—4

(1/2/0)
10. Svante is going to spin the three wheels A, B and C. What is the probability
that the sum of what the three wheels will show is going to be odd?
Show your solution.
A B C
(0/1/2)
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